ASSEMBLY INSTRUCTION
MODEL: wy.145 | WY-745 | WY-845 | WY-945

NAOMI .
(511027, 511028,
511040) i
=~ . i
]
S

/%é/////%
N/ &/&& U

*5 - REAR PANEL J/ =
*3 - DOOR e
No| _ Hardware Qty 2
A [BESS> screw (M4x38) 24 pes
B |EE=) wood Dowel (6 x 25) 28 pes 8
| C |fExxx=>  Screw (M4 x25) 10 pcs
D |5 Screw (M3x12) 10 pcs @
E |[fexss> screw (M3.5x16) 24 pcs
F| = Door Stud 10 pes
G| == Handle 5pes
H| £  MagnetwithLeg 5pes CAUTION
| Magnet Plate (2 Holes) 5 pes Material use chipboard. To use soft
J | £2=25  Stopper 5 pos :lroy-rclcth fo; ctleanin;g purpoh::ze. »D?
(=1 use elergent or chemucal.
K % Evra: E;;mk iﬁ Avo'i_d hr:oqlac';t with wa;:dand dzsr;:it
7 sunlight, To be assem on a soft,
M| o—» camHolt 4 pes dry, rgcleau'l and smooth surface
g g Cam Bolt 4 pes (environment)
L-Holder 2 pes

1. FIXING WOOD DOWEL

®

FIX WOOD DOWEL TO PANEL
1.2,6,7.9

2. FIXING DOOR (2]

=0
Ei®
®
(] ( 3o
1®
FIXING DOOR TO PANEL 3

3. FIXING MAGNET

A e

@ /

FIXING MAGNET TO PANEL 2, 8, 10

4. FIXING LOCK

5. FIXING STOPPER

FIXING STOPPER PLATE TO PANEL
2,8,10

6.

sk, o
Md o
1@:@'&

s

FIXING PVC LEG TO PANEL 4

FIXING LOCK TO PANEL 3
7. FIXING CAM BOLT q
<>
® 'ﬁ e

L e |

8.

2>/3

v

¥ o ¥

FIXING SCREW TO PANEL 1, 4

10.

1Y

4

FIXING SCREW TO PANEL 4, 6
5 — REAR PANEL
3 - DOOR

FIXING SCREW TO PANEL 7, 8




ol

| Sl
|+~

/
| -0 )memo

FIXING SCREW TO PANEL 8, 9
5 - REAR PANEL
3 --DOOR

12.

| FIXING SCREW TO PANEL 10
'L 5 -- REAR PANEL

13.

10

O

s 3

T

O

o L oo | 3

@
8
FIXING L HOLDER
TO PANEL1,6,8
5 |@
6 &
®
2 3
1

@]

oo 3
O

o
3
— FIXING CAM BOLT

8 — BOTTOM PANEL
5 -- REAR PANEL

TO PANEL 1,6

14,

\

\




